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Example Example
—® The distance a from the object is 120 m and Base ais 75 m and the angle measured )
the angle measured with the quadrantis 9° with the Pelorus is 65°
—  *Arowatoward 120. o ® Arrow a toward 75. _
= ® Over 9 the height of the object is read: 19 m. i;}:eiod\:e‘l 215 ::e distance from the object —
/o 1(|}0 n_ln : |2[U 5? -. ‘ITJ Blc; 9|a ,;I.nsull _I- 20( =
y\:b.'."i'!\;ll'-'\':"l'-:‘l‘,"Il, futily || | Lk J.'II ,'I ';"'f."'f.'l'.r'll'llll‘:l"':!"I|"|"'I.‘I‘|"."‘|'}'" ]:l i SIMII:IS::L
X’ \5120“:. a S/B 9m E?b:) a SUQ o \}"'”D‘ &\
& R
4 X :
e MATHEMATICUS |9 Upper disc
/
j 4 28
r \
100 800 Rl W12 43 . =
T ® W 28 E
P {\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\m\uJW////,/////////////// AN
/'/. QQ \\\\\\ //////// Q \\\
/ \\\ /%/ X
e o0\
S Q \ /// A
/ \ e Y
TS s
[ 8 S =
- —
| o= =
R '__-—"_'_'_:F:_,
i =
= & =
= —
= ;
\ &7 S /
‘\_ o( /%%// \\\% 6‘ ,/
X /// \\\\ ¥
\ &Y N
\;h\ 09//////////// / \\\\\\\\\\ ov
T N LI e
Lower disc ~_ % /! ‘ | m \\\g_& ot



